EXAMINATION DEPARTMENT

Date: SEPT-2019

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / NC/19/ 2019-2020

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2019

SESSION	II : 2019-2020 CLASS : BE-I	NCH :	ENGIN	EERINC	j			SE	MESTE	R / TRII	MESTER	R : N	IONCOL	LEGIA	MONTH OF EXAM : AUG-2019							
ROLL NO	NAME		EE8217(3) CH1401(3)					MA2201(4) PE7005(3)		EE5205(4) MA1201(4)		EC2001(3) EE2201(4)		EE3201(3) CH2203(3)		EE7211(3) EE4203(3)		207(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6039/14	GOVINDA HANSDA	U	С	15.0	С	20.0	С	20.0	С	20.0	С	15.0	С	15.0	С	15.0	С	15.0	150.0	30.0	5.00	
BE/0039/14	GOVINDA HANSDA	L	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	130.0	30.0	3.00	_
BE/6040/14	DOCHAN WHILD	U	С	15.0	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	150.0	20.0	5.00	
BE/6040/14	ROSHAN KUJUR	L	С	15.0	С	15.0	С	15.0	С	20.0	С	20.0	С	15.0	С	15.0	-	-	150.0	30.0	5.00	

EE8217(3)	: EHV POWER TRANSMISSION	CH1401(3)	: ENGINEERING CHEMISTRY
EE4209(4)	: ENGINEERING ELECTROMAGNETICS	ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	PE7005(3)	: COMPETITIVE MANUFACTURING STRATEGIES
EE5205(4)	: POWER ELECTRONICS	MA1201(4)	: ENGINEERING MATHEMATICS
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING
EE3201(3)	: INTRODUCTION TO SYSTEM THEORY	CH2203(3)	: ENVIRONMENTAL SCIENCE

: COMPUTER AIDED POWER SYSTEM ANALYSIS EE7211(3) EE4203(3) : ELECTRICAL MACHINE I EE5207(3) : POWER SYSTEM - I

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

Disclaimer

EXAMINATION DEPARTMENT

Date : SEPT-2019

novimn arramete i

: ENGINEERING CHEMISTRY

CH1401(3)

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / NC/19/ 2019-2020

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2019

SESSION	: 2019-2020 CLASS : BE-E	NCH :	ENGIN	NEERIN(G			S	EMESTI	ER / TF	RIMESTI	∃R :	NONCO	LLEGIA	ATE	M	MONTH OF EXAM : AUG-2019					
ROLL NO	NAME		EE6203(3) BT3021(3)		EE4209(4) EE3201(3)		MA2201(4) EE5201(3)		EC2001(3) EE4203(3)		EE7211(3)		EE2201(4)		PH1201(4)		CH1401(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6047/14	PANKAJ EKKA	U	С	15.0	С	20.0	С	20.0	С	15.0	С	15.0	С	20.0	С	20.0	С	15.0	140.0	28.0	5.00	
BE/0047/14	I ANKAJ EKKA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	140.0	26.0	3.00	_
DE/6142/14	ROHAN CHOUDHARY	U	С	15.0	С	20.0	С	20.0		-	С	15.0	С	20.0	-	-	-	-	150.0	20.0	5.00	
BE/6143/14	ROHAN CHOUDHARY	L	С	15.0	С	15.0	С	15.0	С	15.0	-	-	-	-	-	-	-	-	150.0	30.0	5.00	-

EE6203(3)	: POWER SYSTEM - II	BT3021(3)	: BIOLOGICAL SCIENCE
EE4209(4)	: ENGINEERING ELECTROMAGNETICS	EE3201(3)	: INTRODUCTION TO SYSTEM THEORY
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	EE4203(3)	: ELECTRICAL MACHINE I
EE7211(3)	: COMPUTER AIDED POWER SYSTEM ANALYSIS	-	:
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	-	:
PH1201(4)	: PHYSICS	-	:

Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Disclaimer Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2019

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / NC/19 / 2019-2020

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2019

SESSION	SESSION: 2019-2020 CLASS: BE-EE BRANCH: ENGINEERING												ER / TR	[MESTE	SEMESTER / TRIMESTER : NONCOLLEGIATE MONTH OF EXAM : AUG													
ROLL NO	NO NAME		EE4201(3) EE4207(4)		EE6201(3) EE4209(4)		EE3201(3) MA2201(4)		EE7203(3) EE2201(4)		EE5201(3) AM1201(4)		CH2203(3) EC3201(4)		HU4001(3)) EE4203		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS						
			GR.	PT.	GR.	PT.	GR.	PT.																				
BE/6158/14	ARNAB NANDI	U	С	15.0	С	15.0	С	15.0	120.0	24.0	5.00	-																
BE/0138/14	AKNAD NANDI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	120.0									
BE/6204/14	DEOKANT JUGNOO	U	-	-	-	-	-	-	-	-	С	15.0	-	-	-	-	-	-	115.0	27.0	4.26							
BE/0204/14		L	С	20.0	С	20.0	F	0.0	С	20.0	С	20.0	С	20.0	-	-	-	-	115.0			-						

EE4201(3)	: ELECTRICAL MEASUREMENT & INSTRUMENTATION	EE4207(4)	: DIGITAL SIGNAL PROCESSING
EE6201(3)	: CONTROL THEORY	EE4209(4)	: ENGINEERING ELECTROMAGNETICS
EE3201(3)	: INTRODUCTION TO SYSTEM THEORY	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS
EE7203(3)	: SWITCHGEAR & PROTECTION	EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING
EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER	AM1201(4)	: ENGINEERING MECHANICS
CH2203(3)	: ENVIRONMENTAL SCIENCE	EC3201(4)	: DIGITAL ELECTRONICS

HU4001(3) : FOREIGN LANGUAGE (FRENCH) EE4203(3) : ELECTRICAL MACHINE I

Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Disclaimer

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2019

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / NC/19/2019-2020

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2019

SESSION	SESSION: 2019-2020 CLASS: BE-EE BRANCH: ENGINEERING													/ TRIMI	ESTER	: NC	NCOL	LEGIATI	E	MONTH	OF EXA	M : AUG-2019
ROLL NO	NAME			ME2001(3) EE4209(4)		`		201(3)	EE7211(3) EE5201(3)		EE3205(4) EC3201(4)		AM1201(4) EE4207(4)		PH1201(4) EE2201(4)		CH2203(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6032/14	ABHISHEK KUJUR	U	-	-	-	-	-	-	С	15.0	-	-	-	-	-	-	-		75.0	15.0	5.00	_
BE/0032/14	ABITISHER ROJUR		-	-	-	-	-	-	-	-	С	20.0	С	20.0	С	20.0	-	-	75.0	15.0	3.00	
DE/6211/14	ANHIZEEDTI NIWASAN	U	F	0.0	F	0.0	С	15.0	F	0.0	С	20.0	F	0.0	F	0.0	С	15.0	50.0	27.0	1.85	UNFAIR MEANS
BE/0211/14	ANUKEERTI NIWASAN		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	27.0	1.83	UNFAIR MEANS
DE/6214/14	SHIVAM SAURAV	U	C	15.0	C	15.0	-	-	-	-	-	-	С	20.0	-	-	-	-	85.0	21.0	1.05	
BE/0214/14	SHIVANI SAUKAV	L	-	-	-	-	F	0.0	С	15.0	С	20.0	-	-	-	-	-	-	83.0	21.0	4.05	-

ME2001(3) : PRINCIPLES OF MECHANICAL ENGINEERING EE4209(4) : ENGINEERING ELECTROMAGNETICS EE4201(3) : ELECTRICAL MEASUREMENT & INSTRUMENTATION EE5205(4) : POWER ELECTRONICS MA1201(4) : ENGINEERING MATHEMATICS EE3201(3) : INTRODUCTION TO SYSTEM THEORY EE7211(3) : COMPUTER AIDED POWER SYSTEM ANALYSIS EE5201(3) : MICROPROCESSOR & MICROCONTROLLER EE3205(4) : NETWORK THEORY EC3201(4) : DIGITAL ELECTRONICS : DIGITAL SIGNAL PROCESSING AM1201(4) : ENGINEERING MECHANICS EE4207(4) PH1201(4) EE2201(4) : PRINCIPLES OF ELECTRICAL ENGINEERING : PHYSICS

CH2203(3) : ENVIRONMENTAL SCIENCE

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.